ANSWERS

1 (a) H(®)=m[-mo’ +iob+k+A%iw/ (Cio+1/R)",  S,(®)=w’|H (a))|2 S, .
(b) o2 =xS,m* /[k(b+A°R)], o’ =nS,m/(b+A°R), P=zS,m.
(¢) P =0.011.

2 (a) vy =(@/2)Ca’exp[-(b/d)*].
(b) p(b) =(4b>/d*)exp[-(b/d)*].
(d) T =4a ! (NzCp*d%a?).

3 (b) DF =(4b/ Ar){1-(a/A)* for A>a; DF=0 for A<a.

() f=-0’mA+(4b/r)J1-(alA)’> for A>a; f=-w’mA for A<a.

4 @ (0,0), (-1/ 1), (-1/ a,-0).
(b)  First point: «<0 saddle point, & > 0 centre
Second point:  a<-0.5 stable focus, —0.5<a <0 stable node, « >0 saddle point

Third point: a<-0.5 unstable focus, —0.5<«a < 0 unstable node, « >0 saddle point



